275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)¢ Toll Free 800-331-7952

Fax 519-650-3334

. . anelite.com ¢ dietersaccessories.com

Our Reputation Is Stainless! |ATF169F:19 & 15014001 REGISTERED SYSTEMS

SKIRTING KIT
Mack Anthem

INSTALLATION INSTRUCTIONS:

CAB PASSENGER

SLEEFER PASSENGER

EXTEMDER FASSENGER

EXTENDER DRIVER
Figure 1
1. Remove OE block heater plate from vehicle with T27 torx bit.
a. Remove block heater plug housings from the OE block heater plate, and install them in the new Block Heater Bracket
2. Prepare all panels by scoring the edges and peeling all plastic except from the main faces
3. Position Cab Panel in place on the vehicle (align back of panel with vehicle body-line of transition panel - see Figure 2), and

mark the (3) mounting holes with a scribe or other method.

Figure 2
4. Remove Cab Panel and drill the (3) holes with a 9/32” drill bit.

Page 1 0f 6 00813024 03/2018



Cambridge, Ontario N3H 4R7

275 Industrial Road,
. @
CPQ“QQ Lte Tel. 519-884-8555
)¢ Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

5. Mount Cab Panel using (3) provided % -20 hex bolts with flat washers & lock nuts.

a. Fordriver side, mount Block Heater Bracket assembly with the rear Cab Panel mounting bolt (see Figure 3)
— TRUCK BODY GOES HERE

174" FLAT WASHER 2% 1/4" FLAT WASHER
1/4-20 HEX BOLT 1/4" FLAT WASHER
, 1/4-20 LOCK NUT

DRIVER CAB
PAMEL

\

NOTE:
BLOCK HEATER BRACKET'S FLANGE IS
POSITIONED ON TOP OF CAB PANEL FLANGE

BLOCK HEATER BRACKET—/

Figure 3

6. Position Sleeper panelin place on the vehicle (align front of Sleeper Panel with Cab Panel), and mark the (5) mounting holes
with a scribe or other method.
7. Remove Sleeper Panel and drill the (5) holes with a 7/32" drill bit.
8. Mount Sleeper Panel using (5) provided 10-32 X %" Philips bolts followed by flat washers and lock nuts.
a. Secure Sleeper Panel to Cab Panel using (1) provided %-20 carriage bolt followed by 5/16” flat washer, then %" flat
washer and lock nut.
9. Position Extender Panelin place on the vehicle (align front of Extender Panel with Sleeper Panel), and mark the (2) mounting
holes with a scribe or other method.
10.Remove Extender Panel and drill the (2) holes with a 7/32” drill bit.
11. Mount Extender Panel using (2) provided 10-32 X %" Philips bolts with flat washers, followed by flat washers and lock nuts.
a. Secure Extender Panel to Sleeper Panel using (1) provided "-20 carriage bolt followed by 5/16” flat washer, then %"
flat washer and lock nut.
12.Peel plastic, and clean with glass cleaner as necessary.

13. Repeat steps for other side of vehicle

Page 2 of 6 00813024 03/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)¢ Toll Free 800-331-7952

Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

ENSEMBLE DE JUPES

Mack Anthem

INSTRUCTIONS D’'INSTALLATION:
Cabine passager

Couchette
passager

Extension
\ passager
Cabine
conducteur
Prise .

chauffe-moteur
Couchette
conducteur

Extension
conducteur
Image 2
1. Retirez la plaque du chauffe-moteur OEM du véhicule avec un téte torx T27.
a. Retirez les boitiers du chauffe-moteur de a plaque OEM du chauffe-moteur, et installez le nouveau support de boitier
de chauffe-moteur.
2. Préparez tous les panneaux en décollant [a pellicule plastique des bordures de panneaux tout en laissant la pellicule sur les
surfaces.
3. Placez le panneau de cabine sur le véhicule (alignez l'arriere du panneau avec la ligne du panneau de transition du véhicule -

voir 'image 2), et marquez les trois trous de fixation avec un marqueur ou toute autre moyen.

Image 2
4. Retirez le panneau de cabine et percez les trois trous avec une méche de 9/32".

5. Installez le panneau de cabine avec les trois boulons hex % -20 fournis, les rondelles plates et les contre-écrous.
a. Du coté conducteur, installez I'assemblage du support de chauffe-moteur avec le boulon arriére d’installation du

panneau de cabine (voir image 3)

Page 3 of 6 00813024 03/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)¢ Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

— Carrosserie du camion

Rondelle plate 1/4’
Boulon Hex 1/4”-20

2 X Rondelle plate 1/4”
Rondelle plate 1/4”
Contre-écrou 1/4”-20

Panneau cabine
coté conducteur

NOTE: La bride du support de prise de
chauffe-moteur est placée au-dessus de
la bride du panneau de cabine

Boulon 10-32
Rondelle plate #10-32
Panneaux
Rondelle plate #10-32
Contre-écrou 10-32
Support de
chauffe-moteur

Image 3
6. Placez le panneau du compartiment-couchette sur le véhicule (alignez 'avant du panneau de couchette avec le panneau de
cabine), et marquez les cinq trous de fixation avec un marqueur ou tout autre moyen.
7. Retirez le panneau de couchette et percez les cing trous de fixation avec une méche de 7/32".
8. Installez le panneau de couchette avec les cing boulons Philips 10-32 X 34" fournis, suivis de rondelles plates et de contre-
écrous.
a. Fixez le panneau de couchette au panneau de cabine avec un boulon a carrosserie ¥-20 fourni suivi d’'une rondelle
plate 5/16”, d’une rondelle plate " et d'un contre-écrou.
9. Placez le panneau d’extension sur le véhicule (alignez I'avant du panneau d’extension avec le panneau de couchette), et
marquez les deux trous de fixation avec un marqueur ou toute autre moyen.
10. Retirez le panneau d’extension et percez deux trous avec une meche de 7/32".
11.Installez le panneau d’extension avec deux boulons Philips 10-32 X %", des rondelles plates et des contre-écrous.
a. Fixez le panneau d’extension au panneau de compartiment-couchette avec le boulon de carrosserie ¥-20 suivi d’'une
rondelle plate de 5/16”, d'une rondelle de %" et d'un contre-écrou.
12.Retirez toute la pellicule plastique restante et nettoyez avec un nettoyant a vitre si nécessaire.

13.Répétez les étapes pour l'autre coté du véhicule.

Page 4 of 6 00813024 03/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)¢ Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

KIT DE FALDA
Mack Anthem

INSTRUCCIONES DE INSTALACION

Cabina pasajero

Dormitorio

Extensor

c

TN

Soporte del
calentador de bloque

Dormitorio

Extensor piloto

Figura3
1. Quite la placa del calentador de bloque OE del vehiculo con una broca torx T27.
a. Quite las cubiertas de enchufe del calentador de bloque de la placa del calentador de bloque OE, e instalelas en el
nuevo soporte del calentador de bloque.
2. Prepare todos los paneles marcando los bordes y quitando los plasticos menos los de caras principales.
3. Coloque el panel cabina en posicion sobre el vehiculo (alinee la espalda del panel con la linea del cuerpo del vehiculo del panel

transicion - ver figura 2), y marque los (3) agujeros de montaje con un marcador o algan otro método.

a s e 'n Vs }

ALINEAR

Figura 2

4. Quite el panel cabinay perfore los (3) agujeros con una broca 9/32".
5. Monte el panel cabina usando los (3) tornillos hexagonales provistos % -20 con arandelas planas y tuercas de bloqueo.
a. Parael lado del piloto, monte el ensamble de Soporte de Calentador de Bloque con el tornillo de montaje trasero del
panel cabina (ver Figura 3)

Page 5 of 6 00813024 03/2018



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a ‘/le L Q Tel. 519-884-8555

)¢ Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

<| Carroceria del vehiculo va aaui 4"

Tuerca de bloqueo 1/4-20

Arandela plana de 4"

Arandela plana de 4"

Tornillo hexagonal "-20

Tuerca de bloqueo 1/4-20

Panel Cabina Piloto

Nota: la brida del soporte del

Tornillo 10-32 calentador de bloque se coloca i
Arendela plana #10
Paneles

Tuerca 10-32

sobre la brida del panel cabina

Soporte de
calentador de bloque

Figura3
6. Coloque el panel dormitorio en su lugar sobre el vehiculo (alinee el frente del panel dormitorio con el panel cabina), y marque
los (5) agujeros de montaje con un marcador u otro método.
7. Quite el panel dormitorio y perfore los (5) agujeros con una broca 7/32”.
8. Monte el panel dormitorio usando los (5) tornillos Phillips provistos 10-32X %", sequidos de arandelas planas y tuercas de
bloqueo.
a. Asequre el panel dormitorio al panel cabina usando (1) tornillo de carroceria provisto %-20 sequido de una arandela
plana de 5/16”, y luego una arandela plana de *" con tuerca de bloqueo.
9. Coloque el panel de extension en su lugar sobre el vehiculo (alinee el frente del panel extension con el panel dormitorio), y
marque los (2) agujeros de montaje con un marcador u otro método.
10. Quite el panel extension y perfore los (2) agujeros con una broca de 7/32".
11. Monte el panel extension usando (2) tornillos Phillips provistos 10-32 x 34", con arandelas planas, sequidas por arandelas
planas y tuercas de bloqueo.
a. Asequre el panel extension al panel dormitorio usando (1) tornillo de carroceria de %-20 sequido por arandelas planas
de 5/16”, y luego arandela plana de %" con tuerca de bloqueo.
12.Quite el plastico, y limpie con limpiador de vidrio si es necesario.

13. Conecte el arnés de la falda de la cabina al arnés del camion (si equipado).

Page 6 of 6 00813024 03/2018



	INSTRUCCIONES DE INSTALACIÓN

